SM6&E5 A

F5 B B SR AR
EILEOERLEFESZICONT (S65E4A8)
N O 5 A HIT4E[R A
X7) wH6F4H (416 4 3 1) (F 54 4 1)
et I ) i 1. 44 % (9 {ir) 1. 51 £ (9 {ir)
R AR 1. 43 &£ (@@ 11 ) 1 (9 fir EACEA
e 1.26 1= 1. 28 i 1.32 %
5 HIEAEE NN 1.35 Z(¢EE 2 1) 1. 42 {5 (2 A7) 1. 32 % (3 fir)
PPN R
A [E 0.96 = 1.01 fi 0. 98 fiz
%ﬁfﬁjﬁ o 1.6% (£E%%E 6 41) 2.0% (13 i)
T NS 2. 4% 2. 6%

BARALZE1.3F (2E 114D

ZFEEHE TEAESZE. RADNKRBZ EE>THEBLTLS1L0OD,. RADHEIC
RBEABRIHY . HEODHEICOOTFSILNAbND, i LENERICSZ H2E(C5E
e EIRT ORENH D) (10 y AERHRIFEAES)

(%) &FE 1.261%. Al 1.46 1%, w&H 1.781%

FHEAIRARZE:1.35F (£EZE 2 )
(%) 2F 0.961%, )l 1.11f%, & 1.53 1%

(BE)AMRABEOHRE (AR

1.8
1.6 -
1.4 = ] = = = - = ] - = =
- [ ] ] ] ] ] L ] ] [ ] ] = u
1
R5.4 5 6 7 8 9 10 11 12 R6.1 2 3 4
== L&l 151 1.5 1.46 1.44 1.42 1.42 1.42 1.4 1.39 1.43 1.41 1.44 1.43
= 2 [F 1.32 1.31 1.3 1.29 1.29 1.29 1.3 1.28 1.27 1.27 1.26 1.28 1.26
[ERHHAT] & 1L S5 =
(BZBIEDKRANEEOHRE (FER) HESEAR
2.50
2.00
1.50
1.00
0.50
0.00
H11[{ 12 113 [ 141516 |17 (181920 | 21 (22|23 (2425|2627 |28|29|30|R1| 2 3 4 5
=118 10.59]0.74[0.57(0.61(0.81|1.06]1.17|1.27|1.13[0.77{0.51/0.75/0.90/0.99(1.21{1.39|1.50(1.65|1.86]1.97|1.81(1.23[1.45(1.57|1.44
—_— 0.49(0.62]0.56(0.56]0.69{0.8610.98(1.06/1.02(0.77|0.45(0.56]0.68(0.82|0.97(1.11]1.23]|1.39|1.54(1.62|1.55(1.10{1.16{1.31]|1.29
[k FT] & 1L 5585

2 SELLEX (SHI5FE10~12A8) :1.6% (£EH6 1)
(%) 2F2.1%., A)1.8%, EH 1.5%




